Question Paper Title : TI_24

Date of Exam : 19-07-2019 02:30 PM

Reference 1D:(19504)

Answer:

Reference 1D:(19509)

Answer:

Reference 1D:(19257)

Answer:

Reference 1D:(19290)
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Choose the option with the appropriate suffix to complete the given
sentence:

Do you remember the agree made between us?

A.-able
B.-ment
C.-ful

D.-some

B.-ment

Jeid AHIaT 3y foRivure yatg Haer.
BRI
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Answer:

Reference 1D:(19273)

Answer:

Reference 1D:(19251)

Answer:

Reference 1D:(19544)

X CEAINED

B.g<old
C.dmTdA

D.faf3d

Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

Napoleon's defeat at Waterloo was a bitter pill for him to swallow.

A.Unpleasant to accept
B.Hard to swallow the bitter pill
C.Difficult to swallow the pill

D.Easy to accept

A.Unpleasant to accept

Choose the appropriate option with the correct punctuation marks for the
given sentence:

mom said we should plan on going to coorg this year for our summer
vacation

A.Mom said we should plan on going to Coorg this year for our summer
vacation?

B.Mom said, “We should plan on going to Coorg this year for our summer
vacation.”

C.Mom said we should plan on going to coorg this year. For our summer
vacation!

D.Mom said We should plan on going to Coorg this year for our summer
vacation!

B.Mom said, “We should plan on going to Coorg this year for our summer
vacation.”

A, B 3HTfOI C T &1 3IehH 20, 30 30T 60 fETHTE B Wehelld. &
foe=an fea=it B 311 ¢ HgH Ger ffed s A d & fadt faawia qui
DHRA?
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B.15 f&aq
c.16 fedag
D.18 feag

Answer: B.15 faaq

Reference ID:(19274) =1 HAId Hla] ‘IS R AATg! AT, AT dlosavd 372

A FTBUGY
ARNIGE

C.HBPBPH DI

DRI HRIhT

Answer: DRI HRIhT

Reference 1D:(19254) Choose the correct form of adjective for the given sentence:

Heis a member of the team. He is willing to give his time and
energy to anything he undertakes to do.

A.insincere
B.callous
C.committed

D.compassionate

Answer: C.committed

Reference ID:(19282)  Uelid dTed T IRY AT I,

A.3(TSI TdT ST UTdadl.

B.3{TolH HdT S§1 UT3dql.

C. 3Tl HT ST UTaaat.

D.3(TSI AT a7 UTda e,

Answer: A.3{TSlH TdT 4T UTSaal.
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Reference ID:(19297)  UaId AIVRIRITAT A ST Uaid e,

A TTTSE] 0T
B.GG Je HUl
C.&Wdl raT
D.TERITd {9 ge5qul

Answer: D.Wﬁﬂﬁ A9 g5qul

Reference ID:(19539) U odakil ATedT ORTANE AT BTG 3 fotl/arg a1 aame Srdr $ifor 2
TR/ a1 I IR Tdl. SR AT ST JUITI3T 5 a1 drTd SiEdid, o
T TR 30T Sraaamda siar fadt 3mg?

A.3 fobHt
B.4 fobeit
C.5 fopdt
D.6 fobHit

Answer: D.6 o

Reference ID:(19523)  Weiiaideh! HRIMS YdTT SRAATAT IR USTURIA TREM0T QRIS SIT?

ASTE &Y 30T 9T TR W
AEESIEG R NER K]

C.HIaT 3THR
RACTARGI]

Answer: ASTE HY AT SIS TREET U

Reference ID:(19286) 1Y ggiamt Hds &,
g 31 gl HRUIRT foharaTad Sea-

AATH
B.ga-H

C.4Tq
D.foramug
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Answer: Dﬁﬂ?ﬁq—c{

Reference ID:(19285) 1 gafart fAds .

ATEd!
B.XTgUI
C.ifga
D 3Tgard

Answer: A.QISE]I

Reference 1D:(19252) Choose the appropriate option with the correct punctuation marks for the
given sentence:

No | don’t want to go there he said

A.“No! | don’t want to go there!” he said.
B.No, | don’t want to go there he said.
C.No? "I don’t want to go there,’ he said

D."No | don’t want to go there :he said’

Answer: A.“No! | don’t want to go there!” he said.

Reference ID:(19295)  TIeTd - SYUIRT Uafg fAaa.

AFTD, I
B.SUHT, I
C.Iu®, T0h

D . UYHT, JaY—

Answer: D . UYHT, JaY—

Reference 1D:(19269) Choose the most appropriate usage to fill in the blank in the given sentence:

The professor will be in a role on the trip.
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B.supervisor
C.supervise

D.supervisory

Answer: D.supervisory

Reference 1D:(19528) TR BTl
44, 40, 75, 25, 66 & 80

A.44
B.55
C.91

D.22

Answer: B.55

Reference ID:(19541)  Ufgedn 25 A9fie favd Tremilt Siisl 17 3mg?

A.225
B.125
C.525

D.625

Answer: D.625

Reference ID:(19534) R sl dg wvean FagH @ guf o
2,3,8,27, 112,

A.156
B.224
C.375

D.480

Answer: D.480
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Reference ID:(19518)  3{ldeiaR 2018 A, 3Ra! YHXIGR T1aTd Sd did aeblarges HHion
EIR

AT

B.OuTS

C.qaH
D.faden

Answer: C.qdld

Reference 1D:(19289)  U&Id ArTIe STeIRRAT ST UhR IS,

YRR IRAR GgRIdala! geat gidld.

A BTN 3reug
B.fohafaivur sremg
C.RTec Nt 3y

D.IHIF-adt 3feqy

Answer: B.forarfagiur sreay

Reference ID:(19296)  "SOTSIRIRGAT IT eI bl SITST&N SATEH 3Mad?

A4

B.3

C.z2

D.5

Answer: B.3

Reference 1D:(19272) Choose the correct form of tense for the given sentence:

What he for a living?

A.is ... doing
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C.s...do

D.does ... do

Answer: D.does ... do

Reference 1D:(19255) Fill in the blank with the correct noun for the given sentence:

The two faced each other across the river.

A.armys
B.armies
C.armyes

D.armis

Answer: B.armies

Reference ID:(19501) AT HIUTAT ST aiaid, e HIIUM HIVAIG! IodTd 1d g
H= qHA"?

A.3TG 3
B.3[I®5¢ 4
C.3=q 5
D.3{J®¢ 6

Answer: A.&Iﬁ%_c{ 3

Reference ID:(19546)  aTHeRd Heli<l THUT T &1 FHTHENT JaliT THUT ST 45% = SR
3R, afaeier faemeaft umur G 294 318 oR el 3fdr qeti=ar Tepur
T TR DI 3ATe?
A.54
B.52

C.76

D.78

Answer: A.54
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Reference ID:(19545)  Vsdl: (123 x 9) + 2 = 1111
A.2
B.3
CA4

D.5

Answer: C4

Reference ID:(19512) 2019 o1 §% Talad Xd YT R0 10 watd Sidd fafefast=a s
TS FTciedT Ufgedn YRS ATd WTaiaue! &1 3g?
AgHT faHT
B.37Si Uil

CXdT €lel
D. 31\ e

Answer: AH%QT cICIE]]

Reference ID:(19298)  J&Id d1eTd UaATddl e AIdvER fAasl.
7 qRied ufeedT GeTd Iied, 3T I M o,

ATATRE GATTS Sieor
B.3{IHTHT S0l
C.UTratd gorol
D.fey draul

Answer: A TR GTS Sie0

Reference ID:(19519)  Higoll-ge! JY 3Me@ad IV Hiedrd RIed § 9ARH gd 2500 Afid
OTahIci hiedr RIed 3178,

A BT gore T HRORY gerir

B.ACRIS
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C IR fhar dd6 fawy
D. Siffe wgT &l

Answer: A.BUT geaed T U gt

Reference ID:(19277) e ST 9Y ST XTeg fergl.

A TUTATUTRIGT
B.paYSl

D.BRBISd

Answer: A OTATITST

Reference ID:(19507) I 2019 U Usq HATdH 31Cl diad fohave g g=an sifam thime
HERTY B0 HeTRIT URTH SATell?

A 18
B.fagy
C.FAlcd

D.9RTY
Answer: C.W

Reference ID:(19299)  HERIFIAIM HIUIAT BeicrelH Halct fohebe Hed ufgediarl 10,000 UTaw@Al
Pa?

A IO Ao
B. g T
c.fedig e

RIEEIENER

Answer: B.ﬁﬁﬁ TMaIhR
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Reference 1D:(19258)

Answer:

Reference 1D:(19520)

Answer:

Reference 1D:(19275)

Answer:

Reference 1D:(19278)

Choose the option with the appropriate suffix to complete the given
sentence:

See that the letter reaches the address in time.

A.-er
B.-eer
C.-ee

D.-ist

C.-ee

HERTY YA WU S0 Wt URIEUTHIS! e SRIuTs JiAl

2017-18 =T 'R1d TAU SHEFIRG REBR' = T bal?

ASE!
B.§f©td
C.arex uiefl

D.Heidid

D.Heidid

yataite! Oy fawgrdf vy 2en.
Ted -

AHST
B.H&d
C.hied

PEIELY

B.H&d

feepria St O Rt HRe S ereg; guf .
YD

https://wwwfftgshersnow.com/previous-year-question-papers/



Answer:

Reference 1D:(19265)

Answer:

Reference 1D:(19515)

Answer:

Reference 1D:(19506)

Answer:

C.®Te3]
DAGE]

B.[0ge1

Choose the appropriate prepositions for the following sentence:

The prosecutor presented a well-reasoned case, but the defense lawyer’s
compelling arguments leniency won the judge.

A .for, over
B.over, for
C.about, on

D.to, for

A.for, over

TRt 2019 AL, HRATAT WlelciUeh! HIUIAT THE P BT AIerHT-
TR FUICHCI I G¥dTrd dail Teil?

ATES
B. SR
C.Xl
D.FRS

ATSES

YR FfGYTHTET DIUT HRT W8S ST Iy faeitsesraan Rasuesidl
MARYTRT g dl?

AT XIV

B.HTT XV

C.HTT XVI

D.HIT XVII

B.HIIT XV

https://www.freshersnow.com/previous-year-question-papers/



Reference 1D:(19280)

Answer:

Reference 1D:(19256)

Answer:

Reference 1D:(19542)

Answer:

Reference 1D:(19291)

gald areTe AHRI are B,
SITUgT= 3107 WA e HI?

A.SITUITET SHTTOT |I0TE Slelel Sae ATl
B.SICTUgTT HTIOT WT0gT U &Y 3T,

C. ST STfOT JIUTT e .

D . udTaT 3107 WIuarT Heiey Tel i,

A ST 0T WU HTelet Ga ATel.

Choose the best option of a collective noun that connects the given
sentence:

That fateful night, as we approached deeper into the forest, we could hear a
of owls hooting in the distance.

A.covey
B.parliament
C.bevy

D.band

B.parliament

aeqaA Fagifard fhadiar 20% e fael 9d. T gahaR Je faden
fpacdiaR 10% fash! B TR, SR fash! fbTd 1848 U 3, TR aXIa!

o SO\

Frgiford fhrrd (FUaiaed) &1 e

A.2500
B.3200
C.3600

D.2100

D.2100

Yeid draiaeiid fa=wor sfiesar.
Tl KRR Teh] UM YTad] didbady So! ARl

A.BTd
B. {0
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Cc.3e!

D.YTaddr

Answer: D.Y1ddr

Reference 1D:(19271) Out of the following options, identify a compound sentence.

A.She works very hard.
B.She works all day long to make ends meet.
C.She works hard but she doesn't like her office.

D.She works hard despite her ill health.

Answer: C.She works hard but she doesn’t like her office.

Reference ID:(19526) 14 FuiHdR Te a3 foream 4 awiqdi=ar auren 4 Ue 3Rid. Y6 aqd- 99 &1
3187

A15 TS
B.10 9%
c.12dy
D.11 Y

Answer: B.10 a"@f

Reference 1D:(19270) Choose the correct form of verb that is in agreement with the subject:

The earth round the sun.

A.rotate
B.revolves
C.runs

D.orbit

Answer: B.revolves

Reference ID:(19510)  Jqul dq & WIeTaU®! BV HUS Al Hay gdrd?
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Answer:

Reference 1D:(19514)

Answer:

Reference 1D:(19536)

Answer:

Reference 1D:(19533)

Answer:

A AT

B.gd
C.anT
D. T

C.dnT

AUt HERTPTC Hord et SRy URERTd fRRUd 3HTed.

A Tferder
BT
C.3{fS&T

D. &It

D. &It

3ifordral 99 25 T 3MTg. SR g 99 § Sifdhdrean qariern 25% e d
TR 3ifdbdrd 99 g g qaTue fobdt cde HHT 38?2

A.40%
B.35%
C.10%

D.20%

D.20%

Grell fadean Jacued sidiar T ARy Y fddr 318, AR g iar 6hH
3{le:

9, 14, 40, 129, 536, 2705, 16260

A14
B.40
C.536

D.129

B.40

https://www.freshersnow.com/previous-year-question-papers/



Reference 1D:(19524) SR A =1, FAT =27, dXFAITH =7

A.44
B.42
C.41

D.40

Answer: A.44

n——

Reference ID:(19517)  HERTY XMEHM SIS HoRIS! & baicdl "ITAR" Aol gul &Y H1Y
3Ts.

A.3(Cd TR ISl
B.3fcd 3gd Il
C.3ffad 3d gieiHl

D3 MR IS

Answer: A3 3MMER I T

Reference ID:(20048) g gy 4 3101 B W?W@W.AHBWI§ UT HIEEH e, o
& TaheT A Tl Gawia qot &ven

1
Qgﬁa'ﬁ

11 feaq

Answer: 11 feag

Reference ID:(19538) U a! 12 fopl/dTy 1 TRIRT A7 10 fhHigdd Srasa araadr Sfor gl
10 fHHl/arT o1 TR A 12 fet 3feR HIUdl. Tul vare! sigr
IRERT 9T S 3?

A.11.2 fea

B.10 fpHi/dN
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D.10.8 fo/arg

Answer: D.10.8 fo/arg

Reference ID:(19284)  fediean ®1eId uRkad- ®RUgMTe! TG qaid fAgeT.
ol AT Yadrd. (Hidsedhies)
ATedl
B.Ucsddld
C.uadid
D.UaUl

Answer: C.godrd

Reference ID:(19511)  HERIYHL Rehel Yol SMTSIRTeN TS US| PRESHILEICTH
qied SR 378,

AR
B.IGWR
CHids
D . JiTTeit

Answer: B.IGWR
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Reference 1D:(19529)

Answer:

Reference 1D:(20047)

TTel fEded IR Uaiter! HIuTdT U @ielt foaiedT Uit SIReun! Jeod
ATE1?

Al Mamzar, Dubai, Abraj Al Mamzar building Flat No. 509/Block A - Dubai -
United Arab Emirates

+971 4 220 7774

(i) Al Mamzar, Dubai, Abraj Al Mamzar building Flat No. 509/Block A - Dubai
- United Arab Emirates
+971 4 220 7774

(i) Al Mamzar, Dubai, Abraj Al Mamzar building Flat No. 509\Black A -
Dubai - United Arab Emirates
+971 4 220 7774

(iii) Al Mamzar, Dubai, Abraj Al Mamzar building Flat No. 509/Block A -
Dubai - United Arab Emirates
+971 4 220 7774

(iv) Al Mamzar, Dubai, Abraj Al Mamzar building Flat No. 509/Block A -
Dubai - United Arab Emirates
+971 4 220 7774

B.ii
C.iii

D.iv

B.ii

i i i iv
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AN

Answer:

2

Reference ID:(19530) U IR ¢UaRIT0! Higual dlwoiyde 31T H.
5DEF6*K4BM1$J#HL7T@PTU2RQ
R Aietiine 3 fhdt firg 3med, it U= 34t T T
STTOT HR T ol 3{Tg?

AUdh

B.aM

caH

D.dR

Answer: cdaM

Reference ID:(19513)  Rd d-9 3MHIRUY HRATAIA 10T IoTTd 3MTg7?

A.3TTH
B.dR&
cfogr

BRINESIE]

Answer: A.STHH

Reference ID:(19535)  Resrn SIft Iiver S FagH @ quf &
1,3, 10, 38, 168,

A.540
B.654

C.724
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Answer: D.872

Reference 1D:(19527) g%ﬁa 25 gyt JATOT IFA=T 45 aufr 31rg. et auigdl &fean aar TUiRR 3:5
?
A13 TS
B.8 a%
C5dy
D.7 9%

Answer: C.5 a"?q‘

Reference ID:(19300)  ST8® 3@ 3&ER Ydd, SHMHE HRd 0T A i gx&M Smaifora
Bl AHR] IR A1 BT gld?

A3 3 g 111
B.3TY gdaT fawy

C.31 T 3oy gty
D. 319 YR dR

Answer: AW 3 T8 I

Reference ID:(19287)  fohaTUGIIUR e aig U fas o,
g @l

AP

B.g&a
ct
D.dl

Answer: B.W

Reference 1D:(19267) Choose the most suitable conjunction for the given sentence:

It was hot enough yesterday but it is hotter today.

A.yet
https://wme?reshersnow.com/previous-year-question-papers/



B.and
C.still

D.however

Answer: C.still

Reference ID:(19525) U SIRTHE] U $ad 3HTRd, ST UAPBIER 8,9,10,......,15 UD! Udh Ta
3ifrd 3MTg, T IR T d . SR ArefxsdUul T Ul HledT Tdl,
W favg T s o=l ST ST 318 ?

A.1/4
B.2/3
C.1/2

D.3/4

Answer: CA/2

Reference ID:(19294) &g & g IMORad.

Afowafs

B.IdcufaR™

C. g

Answer: B.TGcd AR

Reference ID:(19276)  faaiedl- YsaiTerqd fawarf e afieswr.
T — Yahd X

AFG
B.faci=t

C.HAGAA
D.g'H
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Answer: C.®oHPdd

Reference ID:(19292)  3fAdbdd-id Udh da- Bl

JicUgr S AT fUTesTe uTddl.

A TTCUE BN ATHAT IS urda

B.ATGUIMI By HI4l PREKIRIEE]

C.IGUarI HIY HIL4l TORIhRIeT UTad

D IISUTE] BN THAT O I uTéd

Answer: C.IICUIET HIY AT U1 UTed

Reference 1D:(19288)  Uald ArTdIel ST UhR IS,

ER! B! Uoe 3 3 g

A BIAYNT e
B.forafaivur sremg
C.XTec Nt 3y
D.IHITTT 30T

Answer: A BIATINT 3y

Reference 1D:(19050) Choose the option that has the correct spelling for the missing word in the
given sentence:

The on the door became loose.

A.hengie
B.heinge
C.hinge

D.hingh

Answer: C.hinge

Reference 1D:(19261) Choose the correct form of verb for the given sentence:

Animals their behaviour before an earthquake the earth.

https://www.freshersnow.com/previous-year-question-papers/



A.changes ... hits
B.change ... hit
C.change ... hits

D.changing ... hit

Answer: C.change ... hits

Reference 1D:(19259) Choose the appropriate articles for the given sentence:

The police will host _ news conference half hour before John's
body is due to leave island nation of Trinidad.

A.a, a, an
B.an, a, a
C.a,a, a

D.a, an, the

Answer: D.a, an, the

Reference ID:(19283)  WIaliddes! HIUMd faem 3rang 3z o i,

A T3 31for fagafavdR § ITRIgYUahRUNd U 3Ted.
B.JERIIGXIR 301 IR & ITFIGYURPRUIT YT 3R
C. &Y 3N HFHRS § AEIYYIHRUNY °ch 3R,
D.3{dBHR 0T g1 § ITRIYYGDHRUN U 3Tadl.

Answer: D.3{dBR 311 g § ITeRIYYUFHUN T 3HTgdl.

Reference ID:(19293)  Jeld aladided IRy o 3 e,
TBIARH Dids o SIoSTI Ygd Tal.

AT
B.HRUI
C.SRt
DI

Answer: AT
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Reference 1D:(19281)

Answer:

Reference 1D:(19266)

Answer:

Reference 1D:(19543)

Answer:

Reference 1D:(19264)

Jaid arTe UhR Sieswl.
At g1 AN Uifgd, HRUT AR ST SaTsl Tal.

A Tgreff

B.fA gty
C.Hgd a1’
D.%dd a1

B.fay ar

Choose the option with the best prepositional phrase to complete the given
sentence:

, | would never like to see you again.

A.By all mean
B.In fact
C.In favour of

D.On behalf of

B.In fact

Tah fdohdl 20% Ye al 30T gl TT 20% T Bial 3101 g af 12 a2
IR 4 TXI AHd odl. WSl fhad Sfi IeR feadmedd TR Ser.

A.1:2
B.4:5
C.3:7

D.2:5

A1:2

Choose the correct form of modal auxiliary verb for the given sentence:

Let's go shopping today. The shops not be crowded.

A.shall

B.will
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Answer:

Reference 1D:(19532)

Answer:

Reference 1D:(19262)

Answer:

Reference 1D:(19268)

Answer:

Reference 1D:(19508)

D.need

B.will

3ol IfAAR 318, 1344 fEaTHIR BT 3™

ARAaR
B.IOHAR
C.HdR

D.gYaR

ARdaR

Choose the most suitable determiner for the given sentence:

We are not familiar with part of the city.

A.the
B.this
C.which

D.these

B.this

Choose the most suitable conjunction for the given sentence:

They came here they were in trouble.

A.what
B.why
C.when

D.where

C.when

YR oy iord aRkiRy sifardt eamedta W foregr ufvwezh
R o
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Answer:

Reference 1D:(19260)

Answer:

Reference 1D:(19521)

Answer:

Reference 1D:(19537)

A.3T3d ORIy
B.ggId URRY
C. A Ry

D.gTd URRY

Choose the appropriate articles for the given sentence:

organisation has entered into agreement to sell one of their
buildings to real estate company situated on the banks of
Rhine.

A.The, a, the, the
B.The, the, an, the
C.The, a, the, a

D.The, an, a, the

D.The, an, a, the

Hes iR Al ¥ed T auIR HERTY IAsamefid g [MeR DI 3Te?

AATRIS

B.gUI
C.ANTR
DA

C.ATTR

AdeMMEE HdgR Yaaedd 10 AdeRiH Td falt gl 31for 60 AdaRiH &=
HAeR U] Rad Hreedl. 1Y thad GIH SHEAR 3MTgd. faviamer gameid
47% AR TAYT ol SATIOT T AT faRIudbIUe 308 Hel S H@Tel.
el AaaRi 9= 81 gla?

A.3600

B.6200

C.4575

D.6028
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Answer: B.6200

Reference ID:(19502)  2018-19 Ste! Afgd foa R RI=AT ufged Si&am™ IH1Ad Adi 1d
7.

AT Rifrs

B. Tl fRiTS!

C.gfvar 91g
D Za1dl |1g

Answer: B.&aTd! RS

Reference ID:(19516) 2019 T, JTHIIG =R 3101 TRIGIHRUT HATHATGR U B eI,

[al

Qe PR &g JY VT Bl SR 378,

A TTTeRR

B.SRIRR
C.aTd=
DI

Answer: A.TaTferR

Reference 1D:(19263) Which of the following options best combines the two given sentences?

There was a cyclonic storm. The schools were closed.

A.The schools were closed, so there was a cyclonic storm.
B.There was a cyclonic storm, so the schools were closed.
C.The schools were closed, but there was a cyclonic storm.

D.There was a cyclonic storm, but the schools were closed.

Answer: B.There was a cyclonic storm, so the schools were closed.

Reference ID:(19505) ST Tidieh 8R (IS STA-IHD RYETS) 2019 A HERIFHHT HIurd
XI5 dt 9uft fAresTeft?

AATTR
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Answer: DH@[

Reference ID:(19522)  @Ieiiadd! SIvrdt Tt & adestR et ATgT?

A Y T gatacdt Tl
B. URIT=AT UTTeR dhlgaied fagdt Tl

oX-HRIINGEGIEEIRIGI
AR CUREIREICIEIRIG]

Answer: c.%mﬁﬁm GIEEIRIG

Reference ID:(19540)  Ud Sdakit A URH B Td 40 fHl/arg a1 v Sl SHfor &men av1 50% aredd
TR Il Sl YA T TG 3T ST 3Me?

A.60 fHl/a™
B.56 fpHl/dN
C.52 fhHa™

D.48 fhdia™

Answer: D.48 fhdia™

Reference 1D:(19049) Choose the option that has the correct spelling.

A.Mischievous
B.Mischevious
C.Mischeveous

D.Mischivouos

Answer: A.Mischievous

Reference ID:(19531) I, I1 g¥ fasdhcarers fasiara! gur fafRry ymmor 8. wrd! fadien
fRrsromreht fasht dved 5% T gIoarTe! A fahdt TonRmed uroft fraera?
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Answer:

Reference 1D:(19279)

Answer:

Reference 1D:(19503)

Answer:

Reference 1D:(19253)

Answer:

B.5:6

C.2:30

D.1:20

D.1:20

2019 AL TORTAA WA B0 eI, T3 ATe TRS
3T GURTCrA Ud U K& HIGIgR JIPTel G el T,

A FTaERY

B.GIS!

C. HTeRH!

D TTiefiems

B.gie!

Choose the correct form of adjective for the given sentence:

Until a agreement has been reached, | am not committed to
accepting the offer.

A.hard
B.stable
C.settled

D.firm

D.firm
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